
 

 

 

 
 
 
 

 
 

 

1) 9sec2A – 9tan2A = __________ 

                a) 1                         b) 9                          c) 8                     d) 0 

            2) 
1+ 𝑡𝑎𝑛2𝐴

1+ 𝑐𝑜𝑡2𝐴
= _______ 

                a) 𝑠𝑒𝑐2𝐴                 b) -1                       c) 𝑐𝑜𝑡2𝐴             d) 𝑡𝑎𝑛2𝐴 

            3) 1 - 𝑐𝑜𝑠2𝐴 = ______ 

                a) 𝑠𝑖𝑛2𝐴b) 𝑡𝑎𝑛2𝐴c) 1 - 𝑠𝑖𝑛2𝐴    d) 𝑠𝑒𝑐2𝐴 

            4) sin60°.cos30° + sin30°.cos60°= ______ 

a) 0                         b) 1                          c) 2                     d) 4 

            5) sin2A = 2sinA is true only if, A = _______ 

a) 30°                      b) 45°                      c) 0°                   d) 60° 

            6) 𝑠𝑒𝑐2𝜃 − 1 = _______ 
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                a) 𝑡𝑎𝑛2𝜃                 b) 𝑡𝑎𝑛2𝜃 + 1         c) 𝑐𝑜𝑡2𝜃 − 1     d) 𝑐𝑜𝑠2𝜃 

One Mark questions: 

1) If sinx =
1

3
 then, cosec x = _________    

2)If cos𝜃 =
24

25
  then, sec𝜃 = _________     

3) If tan 𝜃= 
7

24
 then, cot 𝜃= _________     

4) If cosec x = 
25

15
  then, sin x = _________    

5) If sin A = 
3

5
 and cos A=

4

5
  then, tan A= _________   

6) 
sin 180

cos 720
 = _________       

7) 
tan 260

cot 640
 = _________       

8) cos480 – sin 420 = _____      

9) cosec 310 – sec 590 = ______      

10) tan 480. tan 420 = _______      

11) sin 600. cos300 + sin 300.cos 600 = ______   

12) 1-tan2 450 = ______       

13) 1 + tan2 450= ______       

14) If A=300, then, sin3A = ______    

 
 

1) If 𝜃 is acute, then write all the trigonometric ratios  

     with respect to 𝜃. 

2) If sin A = 
3

4
then, calculate cos A and tan A.   

  

3) If 15cot A = 8 then, calculate sin A and sec A.  
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4) If sec𝜃 =
13

12
  then, Find the values of sin 𝜃 and tan𝜃. 

5) Find the value of: 2tan2 450 + cos2 300 – sin2 600 

6) Find the value of:  
2 tan 300

1+tan2300
 

7) tan 2A = cot (A-180) and 2A is acute, then find the value of A. 

8) If tan A = cot B then, prove that A+B = 900. 

9) If sec 4A = cosec(A-200) and 4A is acute, then find the value of A. 

10) Find the value of: sin 250. cos650+ cos 250.  sin 650 

11) Find the value of: tan2 600+ 2tan2450 

12) Find the value of: cosec 600− sec450+ cot 300  

 

 

1) Prove that (cosec θ - cot θ)2 =  
1−𝑐𝑜𝑠𝜃

1+𝑐𝑜𝑠𝜃
 

2)Prove that
cos 𝐴

1+sin 𝐴
 + 

1+sin 𝐴

cos 𝐴
 = 2sec 𝐴 

           3) Prove that √
1+𝑠𝑖𝑛𝐴

1−𝑠𝑖𝑛𝐴
 = secA + tanA  

           4) Prove that (sin A + cosec A)2 + (cos A + sec A)2 = 7 + tan2 A + cot2 A    

           5) Prove that (cosec A - sin A)(sec A - cos A) = 
1

𝑡𝑎𝑛𝐴+𝑐𝑜𝑡𝐴
 

           6) Prove that √
1+𝑐𝑜𝑠𝐴

1−𝑐𝑜𝑠𝐴
 = cosecA + cotA  

           7) Prove that (1 + cotA – cosecA) (1 + tanA + secA) = 2    

           8) Prove that 
𝑡𝑎𝑛𝐴−𝑠𝑖𝑛𝐴

𝑡𝑎𝑛𝐴+ 𝑠𝑖𝑛𝐴
=  

𝑠𝑒𝑐𝐴−1

𝑠𝑒𝑐𝐴+1
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